Pay Estimate Created Date: September 2, 2020

Progress Estima 1	ate Number	Contract ID Prime Contrac	191018-H02 tor Lehman Construc	Pay Period Start See N tion, LLC Pay Period End Septer	TP Date Original Contract Amo mber 1, 2020 Net Change Order Amo Current Contract Amo	ount \$391.50					
Approval Date						By User					
September 2, 2020		Generated and Approved (and should be considered Draft) at the Project Office Level by									
September 4, 2020		F	Reviewed and Approv	ved (and should be considered Dra	ft) at the Resident Engineer Level by	PULLIA					
September 4, 2020			R	eviewed and Approved at the Cent	ral Office Controllers Office Level by	greggd1					
Original Comp	letion Date	Current C	Completion Date	Actual Completion Date	% of Current Contract Amou	nt Complete					
December ?	1, 2020	Decer	mber 1, 2020		8.03%						

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 1									
		This Estimate	Previous	To Date					
191018-H02									
	Total Posted Items Pay	\$57,579.14	\$0.00	\$57,579.14					
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00					
	Incentive	\$0.00	\$0.00	\$0.00					
	Disincentive	\$0.00	\$0.00	\$0.00					
	Liquidated Damage	\$0.00	\$0.00	\$0.00					
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
	-		\$0.00	\$57,579.14					
Contract Total Pa	yable This Estimate:	\$57,579.14							

Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount	
J9S3384	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$25,000.000	1	\$25,000.00	
	0140	6161005	CONSTRUCTION SIGNS	SQFT	\$9.000	440	\$3,960.00	
	0150	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$42.000	4	\$168.00	
	0160	6161009	FLAG ASSEMBLY	EA	\$24.000	4	\$96.00	
	0170	6161030	TYPE III MOVEABLE BARRICADE	EA	\$145.000	10	\$1,450.00	
	0180	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$3,600.000	2	\$7,200.00	
	0190	6181000	MOBILIZATION	LS	\$47,051.400	0.1	\$4,705.14	
	0340	2160500	REMOVAL OF BRIDGES	LS	\$30,000.000	0.5	\$15,000.00	
Project J	<mark>9S3384 -</mark>	Total					\$57,579.1	
Overall - Total								

Contract Adjustments This Estimate

```
No Contract Adjustments Exist on Contract
Line Item Adjustments This Estimate
```

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9S3384	0140	CONSTRUCTION SIGNS	Material			-440	\$9.00	(\$3,960.00)
	0140	CONSTRUCTION SIGNS	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user voyleb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	440	\$9.00	\$3,960.00
	0150	ADVANCED WARNING RAIL SYSTEM	Material			-4	\$42.00	(\$168.00)
	0150	ADVANCED WARNING RAIL SYSTEM	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0002) due to user voyleb1	4	\$42.00	\$168.00



Pay Estimate Created Date: September 2, 2020

Progre	ss Esti	imate Number 1	Contract ID Prime Contra	-191018 I ctor Lehman		, LLC Pay Period End September 1, 2020 Net	ginal Contrac Change Ord rent Contrac	er Amount \$	391.50
Project Number	Line No.	Item Description		Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustmen amount
J9S3384						overridding Payment Estimate Exception 2 on the current Payment Estimate.			
	0160	FLA	G ASSEMBLY	Material			-4	\$24.00	(\$96.00
	0160	FLA	G ASSEMBLY	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0003) due to user voyleb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	4	\$24.00	\$96.00
	0170	TYPE I	II MOVEABLE BARRICADE	Material			-10	\$145.00	(\$1,450.00)
	0170	TYPE I	II MOVEABLE BARRICADE	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0004) due to user voyleb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	10	\$145.00	\$1,450.00
	0180	SI		Material			-2	\$3,600.00	(\$7,200.00
	0180	SI		Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0005) due to user voyleb1 overridding Payment Estimate Exception 5 on the current Payment Estimate.	2	\$3,600.00	\$7,200.00
Total				· · · · · · · · · · · · · · · · · · ·					\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Cor	tract Project Inform	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9S3384	FAS S702(66)	Bridge replacement	38	WRIGHT	over Evening Shade Creek.		
Totals by J	Job Numbe	rs					
J9S3384		d Item Pay Item Adjustm		Item Pay	This Estimate \$57,579.14 \$0.00 \$57,579.14	Previous \$0.00 \$0.00 \$0.00	To Date \$57,579.14 \$0.00 \$57,579.14
	Liquid	tive centive lated Damages Contract Adju	6		\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9S3384, Item 6161005, Project Item Line Number 0140, Material Set 616100596, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material accepted on certification review, awaiting material report.	voyleb1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3384, Item 6161008, Project Item Line Number 0150, Material Set 6161008, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material accepted on certification review, awaiting material report.	voyleb1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3384, Item 6161009, Project Item Line Number 0160, Material Set 6161009, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material accepted on certification review, awaiting material report.	voyleb1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3384, Item 6161030, Project Item Line Number 0170, Material Set 6161030, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material accepted on certification review, awaiting material report.	voyleb1	Overridden
Estimate Exception Type: Insufficient Materials: Project J9S3384, Item 6161098A, Project Item Line Number 0180, Material Set 6161098A, Material 0616TMTC - Temporary Traffic Control Devices, Acceptance Action Generic 0616TMTC is insufficient.	Material accepted on certification review, awaiting material report.	voyleb1	Overridden

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	uantities				eport Generated date and can differ from the posted amo	ount at th	e time the	e Estimate v	vas Gen	erated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-H02	J9S3384	0001	0010	1041000	TEMPORARY SURFACING	20.00	0.00	20.00	CUYD	0.00	\$70.00	\$0.00
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000.00
		0001	0030	2064000	POROUS BACKFILL	58.00	0.00	58.00	CUYD	0.00	\$65.00	\$0.00
		0001	0040	2079909	MISC.Modified Linear Grading Class 2	3.20	0.00	3.20	STA	0.00	\$1,900.00	\$0.00
		0001	0050	3040163	TYPE 1 AGGREGATE FOR BASE (6 IN. THICK)	257.00	0.00	257.00	SQYD	0.00	\$18.00	\$0.00
		0001	0060	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	42.40	0.00	42.40	TONS	0.00	\$234.00	\$0.00
		0001	0070	4019905	MISC.Optional Pavement	257.00	0.00	257.00	SQYD	0.00	\$75.00	\$0.00
		0001	0800	4071005	TACK COAT	34.00	0.00	34.00	GAL	0.00	\$5.00	\$0.00
		0001	0090	6079902	MISC.6" Steel Post	4.00	0.00	4.00	EA	0.00	\$800.00	\$0.00
		0001	0100	6096010A		8.00	0.00	8.00	CUYD	0.00	\$40.00	\$0.00
		0001	0110	6096041		8.00	0.00	8.00	CUYD	0.00	\$31.00	\$0.00
		0001	0120	6113020 6113040	FURNISHING TYPE 2 ROCK BLANKET PLACING TYPE 2 ROCK BLANKET	477.00	0.00	477.00	CUYD	0.00	\$55.00	\$0.00
		0001	0140	6161005	CONSTRUCTION SIGNS	412.00	43.50	455.50	SQFT	440.00	\$9.00	\$3,960.00
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$42.00	\$168.00
		0001	0160	6161009	FLAG ASSEMBLY	4.00	0.00	4.00	EA	4.00	\$24.00	\$96.00
		0001	0170	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$145.00	\$1,450.00
		0001	0180	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$3,600.00	\$7,200.00
		0001	0190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.10	\$47,051.40	\$4,705.14
		0001	0200	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	824.00	0.00	824.00	LF	0.00	\$1.25	\$0.00
		0001	0210	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	824.00	0.00	824.00	LF	0.00	\$1.25	\$0.00
		0001	0220	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	428.00	0.00	428.00	SQYD	0.00	\$18.00	\$0.00
		0001	0230	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	602.00	0.00	602.00	SQYD	0.00	\$3.00	\$0.00
		0001	0240	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.00	\$4,080.00	\$0.00
		0001	0250	8051000A	SEEDING - COOL SEASON MIXTURES	1.00	0.00	1.00	ACRE	0.00	\$4,080.00	\$0.00
		0001	0260	8061005	ROCK DITCH CHECK	112.00	0.00	112.00	LF	0.00	\$22.00	\$0.00
		0001	0270	8061016	SEDIMENT REMOVAL	12.00	0.00	12.00	CUYD	0.00	\$10.00	\$0.00
		0001	0280	8061017	TEMPORARY SEEDING AND MULCHING	1.00	0.00	1.00	ACRE	0.00	\$1,080.00	\$0.00
		0001	0290	8061019	SILT FENCE	392.00	0.00	392.00	LF	0.00	\$5.50	\$0.00
		0001	0300	8061050	TYPE C BERM	356.00	0.00	356.00	LF	0.00	\$72.00	\$0.00
		0010	0310	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$3,465.00	\$0.00
		0010	0320	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,450.00	\$0.00
		0070	0330	2061000	CLASS 1 EXCAVATION	100.00	0.00	100.00	CUYD	0.00	\$50.00	\$0.00
		0070	0340	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS	0.50	\$30,000.00	\$15,000.00
		0070	0350	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	123.00	0.00	123.00	SQYD	0.00	\$210.00	\$0.00
		0070	0360	7011104	DRILLED SHAFTS (3 FT. 0 IN. DIA.)	39.10	0.00	39.10	LF	0.00	\$820.00	\$0.00
		0070	0370	7011203	ROCK SOCKETS (2 FT 6IN. DIA.)	24.00	0.00	24.00	LF	0.00	\$400.00	\$0.00
		0070	0380	7011300		4.00	0.00	4.00	EA	0.00	\$1,320.00	\$0.00
		0070	0390	7011400		64.00	0.00	64.00	LF	0.00	\$180.00	\$0.00
		0070	0400	7011600		4.00	0.00	4.00	EA	0.00	\$1,500.00	\$0.00
		0070	0410	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	144.00	0.00	144.00	LF	0.00	\$90.00	\$0.00
		0070	0420	7026000		136.00	0.00	136.00		0.00	\$220.00	\$0.00
		0070	0430	7032003	CLASS B CONCRETE (SUBSTRUCTURE)	56.60	0.00	239.00	CUYD	0.00	\$600.00	\$0.00
		0070	0440	7034219A	TYPE D BARRIER	239.00	0.00	239.00	LF	0.00	\$100.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate) Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note. 1 Usted Q	uanuues	anu vaiu	es are u	aseu un n	leport Generaleu dale and can diller from the posted and	Junit at the			vas Gen	icialcu.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191018-H02	J9S3384	0070	0450	7034222	SLAB ON CONCRETE BEAM	341.00	0.00	341.00	SQYD	0.00	\$200.00	\$0.00
		0070	0460	7056065	17 IN., PRESTRESSED CONCRETE SPREAD BOX BEAM	418.00	0.00	418.00	LF	0.00	\$320.00	\$0.00
		0070	0470	7061060	REINFORCING STEEL (BRIDGES)	9,970.00	0.00	9,970.00	LB	0.00	\$1.50	\$0.00
		0070	0480	7123610	SLAB DRAIN	18.00	0.00	18.00	EA	0.00	\$1,000.00	\$0.00
		0070	0490	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	0.00	\$1,140.00	\$0.00
		0070	0500	7161000	PLAIN NEOPRENE BEARING PAD	8.00	0.00	8.00	EA	0.00	\$300.00	\$0.00
		0070	0510	7161002	LAMINATED NEOPRENE BEARING PAD	16.00	0.00	16.00	EA	0.00	\$330.00	\$0.00
Project J9S3384 - Total Value Posted to Date as of Report Generated Date											\$57,579.14	
191018-H02 Overall - Total Value Posted to Date as of Report Generated Date										\$57,579.14		



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project:	J9S3384											
Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units		From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	8/31/20	9/2/20	1.00	LS	11	17+09.00		118 +03.60		
0140	6161005	CONSTRUCTION SIGNS	8/31/20	9/2/20	440.00	SQFT	11	15+41.50		119+47.50		
0150	6161008	ADVANCED WARNING RAIL SYSTEM	8/31/20	9/2/20	4.00	EA	11	15+41.50		119+47.50		
0160	6161009	FLAG ASSEMBLY	8/31/20	9/2/20	4.00	EA	11	15+41.50		119+47.50		
0170	6161030	TYPE III MOVEABLE BARRICADE	8/31/20	9/2/20	10.00	EA	11	15+41.50		119+47.50		
0180	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	8/31/20	9/2/20	2.00	EA	11	15+41.50		119+47.50		
0190	6181000	MOBILIZATION	8/31/20	9/2/20	0.10	LS	11	15+41.50		119.47.50		
0340	2160500	REMOVAL OF BRIDGES	8/31/20	9/2/20	0.50	LS	11	16+98.00		118+15.00		

The information below this line are details from Line Item agency views.

Contract ID: 191018-H02

DWR Date: August 31, 2020

Line Number: 0140

Description: CONSTRUCTION SIGNS

Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	WO16-2 30x24 5.00 XXX FEET (PLAQUE)		2.00		5	10
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	WO20-2 48x48 16.00 DETOUR AHEAD		3.00		16	48
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	WO20-3 48x48 16.00 ROAD CLOSED AHEAD		4.00		16	64
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	MO4-8a 24x18 3.00 END DETOUR		2.00		3	6
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	R11-2 48x30 10.00 ROAD CLOSED		2.00		10	20
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	R11-3a 60x30 12.50 ROAD CLOSED XX MILES AHEAD LOCAL TRAFFIC ONLY		5.00		12.5	62.5
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	SPECIAL 7 96x48 32.00 POINT OF PRESENCE		2.00		32	64
Location	Log Mile	Station	Sign Number	Special Sign	Number of Items	SF Special Sign	Units Each	Total SF Pay
		115+41.50	SPECIAL 36x60 15.00		10.00		15	150



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0140	CONSTRUCTION SIGNS	Material		1	Sep 2, 2020	SYSTEM	(\$3,960.00)	
				1	Sep 2, 2020	SYSTEM	\$3,960.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user voyleb1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0140 -	Total						\$0.00	
0150	ADVANCED WARNING RAIL SYSTEM	Material		1	Sep 2, 2020	SYSTEM	(\$168.00)	
				1	Sep 2, 2020	SYSTEM	\$168.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user voyleb1 overridding Payment Estimate Exception 2 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0150 -	Total						\$0.00	
0160	FLAG ASSEMBLY	Material		1	Sep 2, 2020	SYSTEM	(\$96.00)	
				1	Sep 2, 2020	SYSTEM	\$96.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0003) due to user voyleb1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0160 -	Total						\$0.00	
0170	TYPE III MOVEABLE BARRICADE	Material		1	Sep 2, 2020	SYSTEM	(\$1,450.00)	
				1	Sep 2, 2020	SYSTEM	\$1,450.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user voyleb1 overridding Payment Estimate Exception 4 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0170 -	Total						\$0.00	
0180	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED,	Material		1	Sep 2, 2020	SYSTEM	(\$7,200.00)	
	CONTRACTOR FURNISHED, CONTRACTOR RETAINED			1	Sep 2, 2020	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0005) due to user voyleb1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
			- Total				\$0.00	
	Material - Total						\$0.00	
0180 -	Total						\$0.00	
Overa	ll - Total						\$0.00	